Division par Puissances de Dix (C)

Trouvez chaque quotient.

6,53 + 10 = 7,69 ~10 =
5+10= 6,2+1000=
4513 +-10= 1,2391 + 1000 =
6,98 -1 000 = 1,1752 +1 000 =
6,2+ 1000 = 3,71+ 10 =
3,28+ 10 = 4,6 -1000=
8,43 +-1000 = 4,3326 +~ 100 =
4,739 -1 000 = 513 +1000 =
5667 +-1000 = 1,3+1000=
7,5+1000= 6,9084 + 10 =
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Division par Puissances de Dix (C) Solutions

Trouvez chaque quotient.

6,53 +10=0,653

5+10=0,5

4513 +10=0,4513

6,98 ~1 000 = 0,00698

6,2+ 1000=0,0062

3,28 +10=10,328

8,43 +~1000=0,00843

4,739 - 1000 =0,004739

5,667 +-1000=0,005667

7,5-+1000=0,0075

7,69 +~10=0,769

6,2 +1000=0,0062

1,2391 +1000=0,0012391

1,1752 +1000=0,0011752

3,71 +10=0,371

4,6 +1000=0,0046

4,3326 =100 = 0,043326

513 +1000=0,00513

1,3+1000=0,0013

6,9084 =+ 10 = 0,69084
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